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=g fAdwr- (General Instruction)
o T gYTEHT U I FH W S|
(Examinee write answer in their own words as far as practicable.)
o T Ul B T=AT 19 B
(The total number of questions is 19.)

o WY1 AUY 7 qF Afqergag Uy &1 390 I fhdY ula vl & IR iftrpaw v arey &
AT | U vy &1 AF 2 3 FAuiRa g1

(Question 1 to Question 7 are very short answer type questions. Answer any five of
these questions in at most one sentence. Each question carries 2 marks.)

o UHSAUY 14 TP AT UY &1 370 A fb=gl 5 ushY & IR 3if¥repraw 50 Treal & STl
TS Uy T A 3 3P FufRa 2

(Question 8 to Question 14 are short answer type questions. Answer any five of these
questions in at most 50 words. Each question carries 2 marks.)

o UHTUWAT15T UY 19 9% USRI UY &1 598 I P8 o7 us & I<R SfUwdaw 100 Mrea
# &S| yd® vy &1 9 5 3 fAuffa g1

(Question 15 to Question 19 are long answer type questions. Answer any Three of
these questions in at most 100 words. Each question carries 5 marks.)

31fcrereg 38wt (oY 5 92T 1 3T S)
Very Short Answer Type Question (Answer Only of 5) 5x2
1. &N ROT MYF & Ieceld Tedd HT S arell ar Hal S Fir & |
List two items to be presented under the head Long Term Loan.
2. JefecAs Tacar favelwor #241 § ?

What is comparative Balance sheet analysis ?

3. U FHFUeA &I AJ FFafadr 3400,000 F Fga 35,00,000 & 5| forer
IR (%) & & 3AH IR g3 & ?
Tangible assets of a company increased from 400000 to 500,000. By

what percentage (%) it has changed?

4. RUT-GHCT 39T Yo oA T FI 41 § ?



10.

11.

12.

What is the formula for finding out Debt-Equity ratio ?

fasha & MR W fohell Sga@ry &1 ST Yedl AT & &I al 3eqdrdr &
a1 QifST|

Name any two ratios to assess the profitability of a business in terms

of sales.

. FaTeleT Heell fhamt T fhedl & #al @ g Afav |

List any two items of operating activities.

Uehs YaTg faeruT Sl HHI 'SIeAer 1 Il fohdy GehR hr foham &
Heddld 3T ?

Payment of Dividend will come Under which type of activity while

preparing Cash-flow-Statement ?

argrﬁﬂtrqaar(farg?rr QI T 3 S) 5x3
Short answer type questions ( Answer any of 5)

At Ach # el Fuelr & 7 Res & fha vt # G@mer:
Under what heads the following items will be shown in the Balance-

Sheet of a company:

i. Trade receivables (SITITR& YT dT0)
i. Goodwill (Tarfa)
ii.  Forfeited shares (80T foh 1T 372)

AT 3R Aaxor F#1 § ?

What common size statement ?

Vehs JaTE TIGOT I JIRX Hlel & 36U FAT § ?

What is the objectives of preparing cash flow statement?

qeleicHe faavor & i Iasy |

Mention the types of comparative statement.

37rEMRAT T Y 200000
Shareholder's Fund

Hel HOT 450000
Total Debts




1], &Tficd 50000

Sl HUfd FOT Jreqared foeprel
Calculate the Total Assets to Debt Ratio.

13. 195 FEA3T & el 6T Y 0T
Calculate the liquid ratio from the following information:
Current Assets (e[ HFIf) 550000
Inventories (Igfaram) 90000
Prepaid Expenses (qd&d &ag) 10000
Current Liabilities (e[ &rf&car) 450000
14177 g3t @ X ST WAl FATh Il Sl AR AT HITSAT |
H AT &1 IRAS AY 360,000, FAT HfAHA A9 20000 | a& & GRIT
780,000 & & o forw graer fomar |

From the following information, find out the amount of payment of tax
by preparing Provision for Tax Account. Opening balance of provision
for Tax 60,000 and closing balance 20000. Tax provided during the
Year %80,000.

EYET 3T 92eT (foheg) fieT &l 39X 150 Qreal H &) 3x5

Long Answer type questions ( Answer any three in about 150 words)

15.f68 FFaer & Rufa Aaor # @iy g8 & Arafaf@a #Ael #r o
ofisent & fe@mrier?
Under what heads the following items on the Assets side of the
Balance Sheet of a Company will be shown ?
(i) B¢ 3SR (Loose Tools)
(i) 9= foe (Bills Receivable)
(i) TafaYr ¢k (Sundry Debtors)
(iv) TI1fd (Goodwill)
(vV)JA B C &yt feiffics & X (Shares in ABC co Ltd)

16.75T I3l @ AR R F=rgu

From the following information, prepare the common size Balance-Sheet

Particulars 31.03.2020

i. Equity and Liabilities
Shareholder’s fund
Share Capital 160000




Reserve & Surplus 80000
Current Liabilities 110000
Total 350000
ii. Assets
Non-Current Assets 210000
Current Assets 140000
Total 350000

17,97 397 2;5:1 &1 #rdeler Gt 60000 & =le] FFTT TAT dlef arfdea

Fr Ty Fr 30T FiST |

Current Ratio is 2:5:1, Working capital is ¥60,000. Calculate the

amount of Current Assets and Current liabilities.

18.farshr T aAT ATel & e T400000 8, Feheo 3Mad 3e]dTdl '5' [T &,
IR Tefaan 3ifasr wiaar &1 1.5 7= &1 IR Eiaar v sifaa

G &1 Hed Hdifav |

3400000 is the cost of Revenue from operation, Inventory turnover

ratio 5 times, inventory at the beginning is 1.5 times of the Inventory

at the end. Calculate the values of opening inventory and closing

inventory.

19.GaTedeT ¥ Yhg T 0T Hifaw

(calculate cash from Operating Activities):

2019 2020
STH-g1er @Id &1 AY Balance of Profit & Loss A/C | 30000 35000
AT g9 General reserve 10000 15000
3ed egg Outstanding expenses 5000 3000
Ea1fd Goodwill 20000 10000
ST ITIATT Trade Receivables 40000 35000

¥ 20,000 ETd & TEllUC Rl Ueh HG foTdehl qEdeh Heg 14000 am, 2019-
2020 # 18000 #H &= f&ar aram | g 3ufaf@d fhar arar I5000.

(An item of plant costing 20000 having book value of ¥ 14000 was
sold for of 18000 during 2019-2020 and depreciation written off 5000.)
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